a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

o

4l } . . .

1.1:_....:, ..... 1 Are-v- -
o : H o7 L4
] S P B S P 8 By
E ! HR

-20 -15 -10 -5 10

Vertex z (cm)

G(0 X) (um)

Ratio

=
o
W

10°E

1.UD!

<+

-+

2+

1520

Vertex z (cm)

a(0 x) tor merged vertices (um)

Ratio

=
o
w

Vertex z (cm)

—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125 v2_prelimWP_epoch4

10?

10

Vertex z (cm)

10?

10

] NS e | e |
-4 . v .

T

4
h

0 15 20
Vertex z (cm)

[y

—

o(0y) (Um

Ratio

0(0 z) (M)

Ratio

10—

10
Vertex z (cm)

1520

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

10°

10?

10°E

10%

0.9

055 =15 =10 -5

|+

0 5 10 15 20

1--

0 5 10 15 20
Vertex z (cm)



	Contents
	Page 1


